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M.A. (Second Semester)
EXAMINATION, May - June, 2022

PSYCHOLOGY
Paper Sixth

(Basic Psychology Process - II)

Time : Three Hours] [Maximum Marks:80

     
Note: Attempt all the sections as directed.



(Section - A)

 

(Objective/Multiple Choice Questions)
 (1 mark each)

   

Note: Attempt all the questions.

 

Choose the correct answer.

P.T.O.
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1. LanguageSpeech
 

(A)  

(B)  

(C)  

(D)  

Which of the following controls the development of lan-
guage and speech?

(A) Left Hemisphere

(B) Right Hemisphere

(C) Corpus collosum

(D) Reticular formation

2.     

(A) 

(B) 

(C) 

(D) 

Dopamine is a kind of _________

(A) Harmone

(B) Neurotransmitter

(C) Matter

(D) None of the above
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3. 
 

(A) 

(B)     

(C) 

(D) 

Which method cannot be used for motivating purpose in
verbal learning?

(A) Anxiety

(B) Deprivation from Food and water

(C) Punishment

(D) Reward.

4. 
 

(A)  

(B)  

(C)  

(D)  

What type of behaviour is emphasized in the theory of
Tolman

(A) Molar behaviour

(B) Molecular behaviour

(C) Purposive behaviour

(D) Operent behaviour
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5.      

(A)  

(B)  

(C)  

(D) 

According to Tolman extinction is a

(A) Active process

(B) Passive process

(C) Repressive process

(D) None of the above

6. 

(A) 

(B) 

(C) 

(D) 

What kind of learning is observational learning.

(A) Cognitive

(B) Behavioural

(C) Social

(D) All of the above
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7.  

(A)     

(B)      

(C)     

(D)     

Which of the following is the correct sequence?

(A) Retrieval - Storage - Encoding

(B) Storage - Retrieval - Encoding

(C) Encoding - Retrieval - Storage

(D) Encoding - Storage - Retrieval

8.   


(A) 6 Sec.

(B) 10 Sec.

(C) 18 Sec.

(D) 30 Sec.

What is the correct duration of STM according to the study
of Peterson and Peterson.

(A) 6 Sec.

(B) 10 Sec.

(C) 18 Sec.

(D) 30 Sec.

P.T.O.
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9.      item    
  

(A)   

(B)   

(C)   

(D)   

Approximately how long does it take to process a single
item in STM.

(A) 250 Milisecond

(B) 500 Milisecond

(C) 750 Milisecond

(D) 950 Milisecond

10.          


(A)   

(B)  

(C)  

(D)   

Which of the following is not associated with learning
theory propound by Skinner.

(A) Programmed instruction materials

(B) Personalized instruction

(C) Learning through limitation

(D) Behaviour modification technique
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11.     

(A) 

(B) 

(C) 

(D) 

Operant conditioning theory was propounded by -

(A) Pavlov

(B) Skinner

(C) Thorndike

(D) Kohler

12.      

(A)  

(B) 

(C) 

(D) 

Pavlov is famous for his work in.

(A) Contingent conditioning

(B) Operent conditioning

(C) Classical conditioning

(D) Oppositional

P.T.O.
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13. 


(A) 

(B)  

(C) 

(D)  

Takings away a child's toy after she has hit her brother
(to stop her hitting him again)

(A) Positive punishment

(B) Negative punishment

(C) Vindictive punishment

(D) Observational learning

14.     


(A)     

(B)   

(C)    

(D)    

Research indicates that exposure to violent TV/Video
game.

(A) Has no impact of aggression

(B) Increase aggression

(C) Reduce aggression

(D) Promoter random act of Kindness
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15.          



   

         

 

(A) US

(B) UR

(C) CS

(D) CR

You are online one evening, when an advert appears

showing your faviourate movie star wearing a new brand

of sunglasses. The advertiser hopes that your positive

feelings toward the movie star will make you want the

sunglasses. In this situation the sunglass would be the-

(A) US

(B) UR

(C) CS

(D) CR

P.T.O.
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16. 

 

(A) 

(B)  

(C) 

(D)  

When the dog is trained to catch a ball you can give the
animal a food reinforce each time it approaches the ball
until finally the dog mouths and grab the ball referring to :

(A) Sensitization

(B) Omission training

(C) Shaping

(D) Extinction

17.     

(A)   

(B)  

(C)   

(D)  

What according to Hull is reinforcing:

(A) Drive reduction

(B) Drive induction

(C) Incentive reduction

(D) Incentive deduction
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18. 


(A) 

(B) 

(C) 

(D) 

Which traditional theorist believed that behaviour involves,
purpose, goals and expectation.

(A) Tolman

(B) Hull

(C) Thorndike

(D) Skinner

19. 
   

(A) 

(B) 

(C) 

(D) 

According to Tolman reward is not required for learning
but is required for:

(A) Extinction

(B) Performance

(C) Memory

(D) Direction

P.T.O.
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20.        

(A) 

(B)  

(C) 

(D)  

To teach a complex behaviour, one should use:

(A) Shaping

(B) Classical Conditioning

(C) Punishment

(D) Contingent management:

 

Section - B

  

(Very Short Answer Type Questions)

(2 marks each)

   

Note : Attempt all questions.

1. 

What is behaviour modification?
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2. 

What is generalization?

3. 

What is shaping?

4.     

What are the methods of verbal learning?

5. 

What is latent learning?

6.  

What is encoding?

7. 

What is decay?

8. STM & LTM 

State two difference of STM & LTM.



Section - C

  

(Short Answer Type Questions)

(3 marks each)

    

P.T.O.
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Note: Attempt all questions.

1.   

Discuss escape conditioning.

2.  

What is discriminating learning?

3.   

What are the material used in verbal  learning?

4.   

Describe observational learning with example.

5.     

Discuss stages of memory.

6.     

State any two causes of forgetting.

7.    

Describe types of memory

8.     

Describe any two remedy to improve memory.
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

Section - D

  

(Long Answer Type Questions)

(5 marks each)

 

Note: Attempt any four questions.

1.     

Describe difference between classical and instrumental
Conditioning.

2.     

Describe neurophysiology of learning in detail.

3.       

Describe methods of verbal learning.

4.     

Discuss theory of Skinner.
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5.       

Describe theory of forgetting in detail.

6.       

Discuss long term memory in detail.


